A A SOHEENAY
SN B) sReAn  SHME 4 s=eAn  SME AN
23 d 3™E 2% & | BHEE
OlHl=? EZI ESPY| oitl=sl, &2 £
FSpin; 55 368 6.7 311 6.24 = 9.00
Asz = 36 115 3.2 78 7.16 | 8.67
AZEQOSE D 36 219 6.1 183 6.29 = 8.30
p—— getdg 80 667 8.3 560 5.96 7.89
=T 65 57 0.9 0l 3.64 | 6.00
A=-E= 55 263 4.8 208 6.39  8.00
BHE XAl A B It 36 126 3.5 88 5.71 8.50
=&t 46 221 4.8 |97( X) 5.36 7.78 1 1 1.0 X 6.24  6.24
=gt 73 473 6.5 [187(0119) 454 = 6.29 3 6 2.0 3 6.70 7.10
S XSA D 46 146 3.2 |73(0427)) 6.04 | 8.36
FOASEEDL 46 191 4.2 [137(014) 582 | 8.60 1 1 1.0 X 7.02 7.02
S+=dn 30 234 7.8 |28(016) 4.94  6.00 | 1 3 3.0 2 8.37 | 8.37
sg2a2mn 35 535 156.3 | 479 6.36 7.43
Ar2| S X &HE 0t 39 605 156.5 | 394 5.58 @ 6.63 1 4 4.0 2 6.60 | 6.60
OtsEsSA0 53 300 5.7 246 587  7.75 1 3 3.0 1 6.71 6.71
3 MHIAD 35 324 9.3 122 575 | 8.1
=20l 0 AEFY 1t 45 297 6.6 199 5.67 | 7.00 1 3 3.0 X 550 | 5.50
Fal=ly 6 61 10.2 8 -
JIEt 8 110 13.8 1 -
cg 8 Al 8.9 4 -
AESA i ! o 1 1 -
iy ([ ES 6 34 5.7 1 -
22 10 695 69.5 4 -
S20 10 583 58.3 2 -
&= 8 180 22.5 1 -
2SS A0ICI0 2 55 647 11.8 | 520 5.32 6.63
AXX-HS 70 493 7 274 5.90 6.88 1 7 7.0 3 6.71 6.71
LSEHSY/2H D) 35 464 13.3 181 3.24  3.86 -
selXz 14 372 26.6 78 2.55 3.00 3 26 8.7 9 3.96  3.96
X124 ot 56 889 15.9 | 474 3.32  4.43 3 23 7.7 12 3.91 4.88
ehZ st 30 300 10 249 494 7.7 |
HAX = 28 429 15.3 175 3.64  4.63 3 21 7.0 15 553 @ 6.00
Aoz dF 57 571 10 452 5.36 6.71 3 7 2.3 3 6.86 | 6.86
S| 2 & ottt 35 198 5.7 141 5.69 7.00 3 4 1.3 1 7.88 7.88
A2 THE 35 290 8.3 150 5.02 5.78 3 6 2.0 1 4.68 | 5.86
SYXelHolHel 55 619 1.3 | 515 6.01 7.43 1 3 3.0 1 3.43 | 3.43
SEAE0SH 43 354 8.2 279 6.32 7.38
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